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KZBEIE, ERMES A FIZLDEAD,

kY IPEZO) R RIE:=0) EYPEZO) R RIE:=0) kY IPEZO) ERITEQ
& (&/8) it & (&/8) it & (&/8) it
X 5H2H(L 47278(%) RIEE 5H2H(L 47278 (%) RIEE 5H2H(L 47278 (%) AEE
No 2 HERFESL B ETE ~ mHL ~ mHL ~ EHL
5A880K) /@ 5A880K) /@ 5A880K) /@
(12BRTH) (12BRTH) (12BR¥H)
(25H) (£5) (&) OhRE) (£5) (/)R] (KBE) (£5) [K#E]
1 AR E1ER4% IS ~ 2 HJICT 35,100 84,000 42% 25,800 71,100 36% 9,300 12,900 72%
2 BHR EEE EE~EATH 33,600 72,200 47% 26,600 63,200 42% 7,000 9,000 78%
3 BHE E1EZ BEE~FIWAT—F 28,400 61,800 46% 21,800 53400 41% 6,600 8,400 79%
4 BHR EIAZE 2 —_—r 23,000 70,100 33% 14,000 59,500 24% 9,000 10,600 85%
5 BHR I — [ 43100 110,600 39% 29,000 94,900 31% 14,100 15,700 90%
6 BHR 23 &R P 30,300 65,300 46% 24,000 58,000 41% 6.300 7,300 86%
T | g [EER B2 . 29,900 73,200 41% 21,600 62,400 35% 8,300 10,800 77%
8 i B B2 EERT—~EI R 18,200 61300 30% 11,800 52,300 23% 6,400 9,000 71%
9 i B E1omhss B~ i 17,500 58,000 30% 12,900 51,300 25% 4,600 6,700 69%
10 i B E G e 8,400 32,500 26% 7,200 30,600 24% 1,200 1,900 63%
11 It 1R Sy g SE 7,100 27,900 25% 5,900 25,700 23% 1,200 2,200 55%
CIFBIRIKE TixE % AR~ 1 iIkJCT
12 BT EIARBEEE T 32,300 95,800 34% 20,600 80,000 26% 11,700 15,800 74%
13 BT EIAZ 2 5 T — 20,100 58,800 34% 7,700 28,100 27% 12,400 30,700 40%
14 BT 23 AR W E T~ 855 27,800 79,100 35% 20,100 67,400 30% 7,700 11,700 66%
NEXCO #£:t+ 25,300 67,900 37% 17,800 57,000 31% 7,600 10,900 70%
15 BHE - o 19,000 35,600 53%
16 BHIE PESAI] mA-EE 16,200 32,600 50%
17 BHIE 3B RER JEA-=it 34,900 65,400 53%
18 P BHIE sEEEE AE-EEE 14,500 26,400 55% _
19 BHR T fE5-BE 17,900 37,900 47% FZ AV ETERERE 7 U
20 BHIE 62 5ER FEE-BRERT 22,800 42,400 54%
21 BHE BNk N -2 04 20.500 39,800 52%
22 BHIE l6E—mig —m —mEE 26,300 50,900 52%
LHEER £5t 21500 41,400 52%
RIRE SRKE 24,000 58,300 41%




